EARAROBEEIERT — 2 N— IBISH —F

2019568240 (B) 7THEHEIH

m#%&)##?ﬂ] +S5R 3K (xwlw | lmEmml - |5 @) w8
[A&4£] 1 7% :560,000 ™ ~ 23#&:157,000  ~ 3 3#&:90,000  ~ 43#&:56,000™ . 5 3&:34,000 9
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
B 3 | SHEX 1:44.6 -1-1-1 |41.2| — 1 426 | AEED (BHE)
1 @M 4| L7A ML=} 540 i Go) | B 77
L:bhwHiOo—)— B:FUutFH1 b pliksEie]
S # 3 | HHEA 1:44.9 10-10-8-4 | 39.5| — 4 421 | ETB-% (BHE)
2|11 |IXAIL 56.0 (1172 Gy | HREA
Z:o—-LiFLf4a B:d-FrFol)— EEHHES
N KA : 00— — SiEBe (BHE)
3l5l5| 7EFTIL i 3 g 1.(415>.1 2-2-2-2 | 41.5 3 (4370) o
R:bh—trva—-4> BT CT7E-L it
5 o # 3 | fRwE 1:45.4 8-8-7-6 |40.1| — 5 494 |SRRBX (BHE)
4177 |XIRIVAESR— 56.0 (1 1/2) (1) |SRRBHE
R:IA>TFyoa BvAxI1427 EvilLy RIT7—L
S - 4 3 | FEERE 1:45.6 5-6-8-7 |40.2| — 2 426 MEX (BHE)
5 2 Iy >74=— 54.0 (1) +7) JEFIEARR
LTIV RT Y1 BAlTe—%2 BRT U H IS
iy RS — R 4 3 | AZAEiZE 1:45.9 6-5-4-3 | 40.9| — 7 479 | RE=EXR (BHE)
6189 dw K/IN—=F A54.0 (1 1/2) 1) FREESLRE
LB/ v>T74 BYM1EET—X BINET 7 — L
o 4t 3 | #LEBA 1:46.2 7-7-5-5 | 41.1| — 6 453 |MTTEA (BEE)
71718 EILFXFCD |\r7 56.0 (11/2) (+2) FATEFF
L:d—IRAafO— B0 JEZa4>b At Fik
# 3 | FEBME 1:46.3 9-9-10-9 [40.4| — | 8 | 441 |TEE (BEE)
EH 6| F1A1T 54.0 (3/4) 2) (B J P NH
it > 7Ly 7R B:ILA—IS—Ib hiilkse]
S = T hE 147, -3-3- . — HFLE— (BHE)
olgliol /—FviLra 3 Rero /S AR R M e =338
R:yA7% BANZRTryyar fz {=: Nl
s 8 3 | FERRME 1:47.3 4-4-5-10 |42.2| — 10 | 456 |AEEDL (BHE)
EH 3| vax¥rI 54.0 (3/4) wg) | (B JPNzRR
L:ErFOVY BINYT - N _E405
® 1—F—@EBIERL
1T=7r= 4,5,10,3,2,9,8,7,6,1
2a=5F= 4,5,10,3,9,2,8,7,6,1
Jol=5r= 4,5,10,9,(3,8),7,(1,2) ,6
43—+ — 4,5,9,1,8,7,(2,10),6,3
[ N5
B 4 130M4 714K 1-4 190M e E 1-4 480 JEE 1-4-5 690F9
B B 4 1004 4-5 200M B = 1-4 500 JEE 4-1-5 2,080
1 1504 1-5 430M B H 4-1 630M
5 1509

ABICOVWTRDTEEERROODE. TR LIV,




